Quiz Questions

The word “tribal” or Adivasi brings to our mind a picture of half-naked men and women,
with arrows and spears in their hands, feathers in their heads, and speaking an unintelligible

language
a. True
b. False

How many Tribes are there in India —

a. 632
b. 645
c. 654
d. None

The Imperial Gazetteer of India, 1911, defines a tribe as a
a. collection of families bearing a common name
b. speaking a common dialect
C. occupying or professing to occupy a common territory and is not usually
endogamous though originally it might have been so
d. allabove
Which of the following tribes resides in Manipur?

a. Meities
b. Pangals
¢c. Hmar
d. Kuki

Munda Uprising/Rebellion took place in which region?
a. Assam
b. Chhotangapur region Ranchi
¢. Andhra Pradesh
d. Punjab
In which state of India resides the maximum number of tribes?
a. Madhya Pradesh
b. Nagaland
c. West Bengal
d. Utter Pradesh
At which level the economy of the Tribals is found-

a. Advanced
b. Developing
c. Primitive
d. None

The form of inequality Tribal societies have is —



a. Intensive
b. Little

c. Moderate
d. none

9. Which is the first largest tribe in India-

a. Santhal
b. Bhil

c. Khasi
d. None

10. Why was the Kuka Movement started
a. Movement against the moneylenders
b. Resentment of the peasants against the operession of zamindars
c. Forced cultivation off Indigo without any proper remuneration
d. Degeneration of Sikh religion and loss of sikh sovereignty
11. Tribal people always need protection from intrusion and infiltration and for this a
single political authority is established and all the powers are vested in this authority.
a. True
b. False
12. Which of the following is not correct pair?
a. Tebhaga movement- Lucknow
b. Bardoli Satygarha- Gujarat
c. AllIndia Kisan Congress- Lucknow
d. Eka Movement- Madari Pasi



